
SAP ABAP table RECP_OI_DOC_AT {Document Data: Adjustment Measure}

RECP_OI_DOC_AT

RESPONSIBLE [CHAR (12)]

USEREXCLUSIVE [CHAR (12)]

ADJMTASKTYPE [CHAR (2)]

CURRENCY [CUKY (5)]

ATMEASUNIT [UNIT (3)]

AMMULMEASUNIT [UNIT (3)]

USAGEGROUP [CHAR (4)]

PROCESSCEAGUID [RAW (16)]

SUBROLE_RC [CHAR (4)]

SUBROLE_CL [CHAR (4)]

SUBROLE_P1 [CHAR (4)]

SUBROLE_P2 [CHAR (4)]

T006

MANDT [CLNT (3)]

MSEHI [UNIT (3)]

 RECP_OI_DOC_AT-AMMULMEASUNIT = T006-MSEHI 

0..N

1

 RECP_OI_DOC_AT-ATMEASUNIT = T006-MSEHI 0..N

1

TCURC

MANDT [CLNT (3)]

WAERS [CUKY (5)]

 RECP_OI_DOC_AT-CURRENCY = TCURC-WAERS 
0..N

1

TIVAJATTYPE

ADJMTASKTYPE [CHAR (2)]
 RECP_OI_DOC_AT-ADJMTASKTYPE = TIVAJATTYPE-ADJMTASKTYPE 

0..N

1
TIVBDUSGRP

MANDT [CLNT (3)]

USAGEGROUP [CHAR (4)]

 RECP_OI_DOC_AT-USAGEGROUP = TIVBDUSGRP-USAGEGROUP 

0..N0..N

TIVBPSUBROLE

MANDT [CLNT (3)]

ROLE [CHAR (6)]

SUBROLE [CHAR (4)]

 RECP_OI_DOC_AT-SUBROLE_CL = TIVBPSUBROLE-SUBROLE 

0..N

{0,1}

 RECP_OI_DOC_AT-SUBROLE_P1 = TIVBPSUBROLE-SUBROLE 

0..N

{0,1}

 RECP_OI_DOC_AT-SUBROLE_P2 = TIVBPSUBROLE-SUBROLE 

0..N

{0,1}

 RECP_OI_DOC_AT-SUBROLE_RC = TIVBPSUBROLE-SUBROLE 0..N
{0,1}

USR02

MANDT [CLNT (3)]

BNAME [CHAR (12)]

 RECP_OI_DOC_AT-RESPONSIBLE = USR02-BNAME 

0..N

1

 RECP_OI_DOC_AT-USEREXCLUSIVE = USR02-BNAME 

0..N

{0,1}

VICAPROCESSID

MANDT [CLNT (3)]

PROCESSGUID [RAW (16)]

VERSION [CHAR (3)]


